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14 12 16

14 12 16




983| 8,294 10032 19,392 30,278
229 1858| 2246| 4344 6,782 15459
H13 H14.131 H14 H17 H14.12.16
7 51 62 120 187 427
5 29 35 68 106 243
5 32 39 75 118 269
246 1970 2382| 4607| 7.193] 16,398
H13 H14.131 H14 H17 H14.12.16
28 225 349 683 1,130 2,415
H13 H14131 Hi4 H17 H141216
103 1301 1819 3586 50904 12713
377| 3.496| 4550| 8876 14,227 31,526
5753| 11,164| 16,337| 16,261 14,904
1,320| 2501| 3661| 3644| 3339 14,474
H13 H14.131 H14 H17 H14.1216
38 69 101 101 92 401
27 39 57 57 52 232
29 a3 63 63 58 256
1423| 2652 3882 3865 3541 15363
H13 H14.131 H14 H17 H14.1216
214 490 761 802 778 3,045
H13 H14131 H14 H17 H141216
5214 8060| 11,163| 13,470 11,300| 49,207
6,851| 11,202| 15806 18,137| 15619 67,615
8423| 6749 6127 5775| 5502
1,957 1513 1372 1294| 1232 7,368
H13 H14.131 H14 H17 H14.12.16
57 a2 38 36 34 207
42 24 21 20 19 126
44 26 24 22 21 137
2,100| 1605 1455 1372| 1,306 7,838
H13 H14.131 H14 H17 H14.12.16
401 326 329 325 323 1,704
H13 H14131 H14 H17 H141216
1,475 873 922 921 784 4,975
3,976| 2804 2706 2618| 2413] 14517
377| 3496 4s50| 8876 14,227 31526) 1
37 400 983| 1.833| 3247 6,500
849,099 728,333 | 385,724 | 403,528 | 365,132 404,179 + <12
6,851 11,202 15806 18,137| 15619| 67,615 1
a29| 13s5| 2596| 3216] 3.216] 10812
1,330,808 | 688,930 | 507,383 | 469,968 | 404,721 521,142 + <12
3,976| 2804 2706| 2618| 2413] 14517| 1
20,800| 23,620| 27,700| 30,340| 30,340 132,800
15929 9,893 8141| 7191 6,628 9110 + +12




13

H14.1.31

6,277,955

122,115

20,270

7,565,395

204,430

26,829

0.0198

0.0033

0.0036
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17

H14.12.16

2,889,046

47,901

7412

3,492,357

68,041

12,212

0.0169

0.0026

0.0036




@

0.5

05

@

= 1.5 + 12 x 365 = 45.625
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®

13 H14.1.31
12)
2,261,233 (0.220)
7,565,395 >
1,484,375  (0.144)
<
2,608,031 (0.253)
A 2,251,119
3,944,172 (0.383) 481,297
2,732,416
10,297,811
481,297-2,732,416=4 2,251,119
2,261,233 + 1,841,287 + 8,046,602 =
= 2,261,233 +
= 1-0.551 =
1 - 0.510 = 0.490

( )
( )
12
2,261,233 (0.281)
7,565,395

1,841,287 (0.229)

( ) 26,829
24,353 3,944,172 (0.490)

430,115
8,046,692 8,046,692

0.510
2,261,233+1,841,287 = 0.551

0.449




14 17 H14.12.16

@
( )
( 13) ( )
13
1,243,084 (0.245) 1,243,084  (0.335)
3,492,357 > 3,492,357
716,258  (0.141)
- 811,230  (0.218)
1,448,371 (0.286)
A 1,353,399
( ) 12,212
1,659,690 (0.328) 221,647 8,921 1,659,690  (0.447)
1,575,046
200,514
5,067,403 3,714,004 3,714,004
221,647-1,575,046=4 1,353,399
@
= 1,243,084 + 811,230 + 3,714,004 = 0.553
(©))
= 1.243,084 =  1.243,084+811,230 =
(©)
= 1 - 0.605 = 0.395
®)

= 1 - 0583 = 0.447



13 H14.1.31
@
12
2.74%
(
12
2.74
)
@
5
= 2.00%
8 9 10 11 12
2.98 2.20 1.50 1.69 1.64 2.00
) 10 )
©)
= 2.74%x 0.551+2.00%x 0.449 = 2.41%
X + X )




H14.12.16

13

2.15%

1.66

)
13
2.15
= 1.66%
9 10 11 12 13
2.20 1.50 1.69 1.64 1.29
2.15%x 0.605+1.66%x 0.395 = 1.96%
X + X

10




2.07%

11

13 H14.1.31
1.
10 11 12 H12
1.18 0.90 2.35
B X X o
1.50 1.69 1.64
0.71
B 0.6
2.07 2.07
(GED)
12
B (0.6)
3 10 11
8 9 10 11 12
4.19 3.04 1.18 0.90 2.35 2.33
12




1.37%

12

14 17 H14.12.16
1.
(
11 12 13 H12
0.90 2.47 A0.76
B X o X
1.69 1.64 1.29
0.83 -
B 0.6
2.14 - 2.14
(GED)
13
B
9 10 11 12 13
3.04 1.18 0.90 2.47 A0.76 1.37
13




= 69.87%

- 1 x0.101 - 1= 0.101 X = 0.0917
1+0.101
2
= X 0.3
=( -0.0917 ) x 0.3
= 0.2725
3
= x 0.05
=0.2725y x 0.05 = 0.0136
4
= x 0.123
=0.2725y x 0.123 = 0.0335

= 1t 2t 3t 4
= 0.4113

= = 0.4113y = _0.4113y =0.6987
z (1-0.4113)y 0.5887y

0.4113

1-0.4113

13



